Your convention card with louisew;j

Negative->24

1NT=16-18 (system on)
2NT=unusual (2 lowest
funbid)

SAYC - Standard American Yellow Card

8-16+ HCP; new
suit=non-forcing; jump
raise=weak;
cuebid=extreme suits

2#&=6 card undisclosed
suit!2D relay 2D=both
majors 2H=5h 25=5S
2NT=both minors

1NT=15-17: Stayman, 24->3&=6+, 2NT=D=6+ inv,
3v/34=6+ slam try; 2NT=20-21; 3NT=25-27

eak

New suit forcing at 1-
level; RDBL=10+ HCP;
2NT=limit raise+; jump
raise=weak; jump
shift=weak;

1v/6=5+; 1%/6=3+

gestem

RKCB 4130, Blackwood
if no suit decided;
Gerber

2%&=strong: 2¢=waiting 2¢/¥/a=strong: 2NT=20-22

odds and evens: odd -like;low-dislike

th suit forcing



